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Read the instructions given below before opening this question booklet :

! DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO

JEU.

Use only BLUE/BLACK Ball Point Pen.

[x

Check the QUESTION BOOKLET thoroughly. In case of any defect — misprint, missing question/s.
get the question booklet changed. No complaint shall be entertained after the exam in this regard.

This test booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the responsc
‘which you consider the best. In any case, choose ONLY ONE response for each item.

(OS]

Al Questions are COMPULSORY. Each Question carries one mark. For each wrong Answer, one
fourthk (0.25) mark will be ceducted.

‘_L‘;

Before you mark the Answer, read the instructions on the back page of the OMR (Answer) Sheet as
well as on the Question Booklet and fill the particulars in the OMR (Answer) Sheet carcfully and
correctly. Incomplete & Incorrect particulars may result in your OMR (Answer) sheet not being
evaluated by the Computer.

wn

6. Answer Sheets will be collected only after the completion of the Examination and no candidate shall
be allowed to leave the Examination Hall earlier. After completing the test, handover the OMR
(Answer) Sheet to the Invigilator.

-3

For Rough Work, 2 Blank Sheets have been provided in the Question Booklet itself. No Extra Sheet
will be provided under any circumstances.

§.  Write the QUESTION BOOKLET SERIES in the space provided on the OMR (Answer) Sheet, by
darkening the corresponding circles.

9. Candidate should write his/her Name, Roll Number, Question Booklet Series and other specitfic
information in the space provided on the Question Booklet as well as on the OMR (Answer) Sheet.

| NOTE : The Question Booklet is bilingual. In case of any difference/ambiguity between English &
Hindi version, the English version shall be considered as final/correct.
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Directions for the following 3 (five) items no. 1 to 5 :

The following 5 items are based on the following passage in English to test the comprehension of
English Language and therefore these items do not have Hindi version.

frrtierierT 5 (dqten) newielt (o 13 5) ¥ fog e

Ferifer 5 wemtsr ofiell % frearfen aftebe o omaRa & oix o3l ST 3 e % whew & fro 2 o
& geiSTT @7 el aTe el A o e B

703/A

Observe the dilemma of the fungus : it is a plant, but it possesses no chlorophyll. While all
other plants put the sun’s energy to work for them, combining the nutrients of ground and
air into the body structure, the chlorophyll’s fungus must look elsewhere for an energy
supply. It finds it in those other plants which, having received their energy free from sun,
relinquish it at some point in their cycle either to animals or to fungi.

In this-search for energy the fungus has become the earth’s major source of rot and
decay. Wherever you see mold forming on a piece of bread, or-a pile of leaves turning to
compest, or a blown-down (ree becoming pulp on the ground, you are watching a fungus
eating. Without fungus action the earth would be piled high with the dead plant life of past

centuries. In fact, certain plants which contains resins that are toxic to fungi will last

indefinitely; specimens are redwood, for instance, can still be found resting on the forest
floor centuries after having being blown down.

The word, best describe the fungus as depicted in the passage, is
(A) Unevolved (B) Sporadic (C) Parasitic / (D) Toxic

The passage states all the following about fungi, except :
(A) They are vastly different from other plants

(B) They are poisonous to resin-producing plants -
(C) They can’t produce their source of energy

(D) They can’t live completely apart from other plants

The line “you are watching a fungus eating” is best described as :
(A) Contradictory, /() Erroneous (C) Ironical - (D) Figurative

“The author is mainly concerned with : \/

(A) Describing the actions of fungi =

(B) Warning people of the dangers of fungi
(C) Writing an essay on fungi

(D) Explaining the long life of some redwoods

The fungus generate energy from : /
(A) Sun (B) Other plants V' (C) Redwood (D) Decay itself, -

P.T.O.
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Directions for the following 5 (Five) items no. 6 to 10

Below in each item, two statements I and 1T are given. These statements may be either
independent causes or may be effects of independent cause or g common cause. One of
these statements may be the effect of the other statement. Read both the statements and
decide which of the following answer choice correctly depicts the relationship between
two statements. Mark answer ;

(A) if statement I js the cause and statement II is its effect,

(B) if statement 17 is the cause and statement 1 1s its effect,

(C) if both statements [ and IT are independent causes,

(D) if both statements I and 1T are effects of independent causes.

FreforRee 5 (TT) qOFTISTY (o 6 & 10) & forw oy -

703/A

AT 9O F9ir ¥, 97 e e g R ¥ ﬁammﬁzaﬁawémémmwm

@merﬂqwérw%i%?aéaﬁﬁ%rwmwﬂwgmam%laﬁ:ﬁ'wﬁaﬁ

T B TR Ryfem T

(A) R 07 [ar0 & o oy 1T 2@ 997 2|

(B) wf%awnw%a?r{wmmgw%f

(C) a&aﬁawmﬁnma‘am%:

(D) Wﬁ“ﬁﬁ%ﬂ?lﬁﬂ@ﬂ?%ﬂﬁﬁ%gw%l

Statement I : A fev parents in the locality decided to stop sendiryleir children to schoo]
; by private vehicles. . Y

Statement IT : Two accidents of different private van carrying school children lead 1o

deaths of few and injuries for many children.
FAT ] : wi?@w—ﬁm%\maﬁaﬁﬁaﬁmﬁ@wa%ﬁwﬁ?ﬁa%w
FUT 17 ; W?WW?WW%@F%@&W#%W@%@WﬁHH#

Statement [ : A Metro city observed the lowest temperature of the last decade
accompanied by heavy fog during the week. WP

Statement 1T : Most of the flights from the city were irdeﬁnitélgf delayed causing panic
among the passengers. a '

T 7 @ﬁ;ﬁ'%ﬁm%fmW&ﬁa%m&ﬁ@%@mzﬁrww%@ﬂ

FAT I - smﬁmwmaﬁ%ﬁwwﬁaﬁﬁﬁﬁm%wmﬁmmﬁ

Statement I : 1 last five vears the ioh market has im broved for rofessionally ¢ lified
3 J I p \}ﬁ

%

youth.
Statement J7 . Many vouths are not avle to get jobs up to their expectations,
FIT J ﬁﬁ%aﬁﬁ%ﬁwéwg‘mﬁ%mﬁﬁtﬁ%w " gaw ga| /
FGT I agav&gmmma%wwﬁaﬁﬁm%ﬁ?ﬁwﬁ%t o (L)

Statement J . During peak hours’ roads are overcrowded with vehicles causing traffic
Jams in most parts of the city. «

Statemeni I7 Many automobile Ccompanies are planning to launch low price vehicles,
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FTL: HEAH GHT G S TS aTed § A0 WiE-TE aredt &7 I € R SR 9w % s
9T H e aW A ST 8l
FT I g4 AR BR SN &F ST % aEAl @ 6 B B G a9 @ 8
Statement I : During evening hours’ roads are overcrowded with vehicles causing very
slow movement of vehicles.
Statement I1 : Air pollution level in the air has substantially increased in the recent past.

FAT [: EE F CHE TS qe] @ Aw sAs-os At & owh & R wwer st @ 1 9ma

e s
e 1 1 BT § &ar ¥ 41g 0Eh F &R BG &% 9% 9% T 8 .

\/0

Read the following two statements and answer the question given below : @

. X
Staterment I : A and B togsther complete the work in 10 days. e
Statement IT : A takes five days more than B to complete the work.

How long would it take A to complete the work ? To answer the question, correct choice,
is : '

(A) Statement I alone is sufficient, but statement II alone is not sufficient.

(B) Statement II alone is sufficient, but I statement alone is not sufficient.

(C) Both statement I and II together are sufficient. :

(D) Each statement alone is sufficient. j
foret <1 e a1 R AR e R T e @ R SR - L”L\//’Lﬂ%‘?(@
Fe { ;A S B S e @ @1 10 R B qw aR ¥ v ﬁ;}}ggi
FATIFE & QWEH G BA s AsRa afmaa el & 0 T M
FTE T HOT A T AT 7 A9 # IR &N % g, wd g d = Y /K(%QJF
(A) b o [ 9aTe &, T ordar $9 [ 94w 781 2| o= },7// s
(B) Al &9+ 11 9ot &, T 31paTT a1 9afe w18t 2 W‘/”
(C) = &9 [ 3 11 foree wafa 2| e T == 6%

(D) T F o 9 5| Yoo % T

, /F'éur persons A, B, C and D share their prize amount of Rs. 1,00,000 in such a way that
, '/fou-r times the A’s, three times the B’s, two times the C’s and D’s prize shares are equal.

The sum of prize amounts of A and D is : ~— °
(A) Rs. 40,000 (B) Rs. 48,000 (C) Rs. 54,000 (D) Rs. 60,000 ’\‘/
————" -

TRARF A, B, C @D @ 100,000 59 B Grenr @ Rt TR § 5 X § o E 5 A B
grERR &6 & 9T, B & o & O I, C 9 D % el @1 A ol e €L A @R D @
R R 7 A E

(A) 40,000%0 (B) 48,0000 = (C) 54,000%0 (D) 60,000 %0

P.T.O.
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13. A piece of work can be done by 6 men and 3 women in 6 days or 3 men and 4 women n
10 days. It can be done by 9 men and 15 women in :

v\ (A) 8 days (B) 5 days (€) 3daysy/ e (D) 2 days

%@mmmwaﬁmw@maﬁwmgmﬁvw%aﬁmﬁwwmmv=z*
RN 9 389 S 15 wfeard fmw Rt ¥ qu ey § 7

Coe Lt (A) s8R (B) 5fw © 3f= - (D) 2fF

y »9@ » Sﬁppose B takes 10% less time than A, to cover the same distance. If A walks at a rate of
,\/ v ;@79 km/h, then the speed of B in m/sec., is : -
S aY,
\\/'/ (/ .

LY 7 / L. 7 =
W T IRV (A) 2—1 B) 2- C) 3— D) 5-
at R 5 (B) 5 (©) 5 ( 5

(e TR B @, O O e B R A w5 e 100 A Y T B AR A 9 knvh 2 0
p@,{ 9 I 8, A7 B & afy m/sec ¥ F7 & ?
Y

7 1 7 5
A) 2— B) 2— C) 3— D) 5=
(A) 5 (B) 5 (©) o (D) 5

15. Two pipes A and B can fill a water tank in 24 minutes and 48 minutes respectively. If
//C\ / both the pipes are opened simultaneously, then after what time the pipe B must be closed
@5 g/\r/) 4,80 that tank will be filled in 16 minutes ?

ﬂ”g‘f@ﬁw 8 (B) 10 © 12 D) 16
B I TR A SR B wwﬁﬁwﬁmﬂ:%ﬁmmﬁmsﬁ?rcﬁg{rmﬁﬁ%!»gﬁ?ﬁm@

_',../%ﬁ‘mw@aﬁ%(aﬁ,a‘r%ﬁw&%mmBﬁmmww@%@%ﬁéﬁmﬁmﬁwﬁ?
~(A) 8 (B) 10 © 12. (D) 16 s v/

AN

16.  The smallest number which when increased by 3 is completely divisible by 8, 11. and 24,

1S , ) BN o8

/ (A) 243 A (B) 259 \\//7 (C) 289 D) 303 2%~
ﬁmﬁww%mﬁmsﬁmw%ww&nezr‘ﬁzmwwrﬁwﬁmﬁr%?
(A) 243 -~ (B) 259 (C) 289 (D) 303

11 {a 17. Ifx #yand (x + y)z =(x— y)2 , then which of the follovwing must be true ?
(AN

(A xHy=x—y B) x+y=—(x-y)

* , B © =0 v ©) w=0."
Ny (xR (0 )7 9 e
o v (A) x+y=x-y B) x+y=-(x-y

(C) x=0 D) x=0

703/A
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18. / Krishna has some hens and goats. If the total number of animal heads are 81 ~and total
number of animal legs are 234, then percentage of hens in total animals is :

, - — °()
(A) 45% (B) 54% (©) 553% v (D) 59% A \}
W%wwgﬁﬁﬁwﬁﬁ%w&wwﬁﬁﬁwﬁwgl%aﬁw@ﬁﬁaﬁwmzﬂé
T g age! ® gt @ g &
(A) 45% (B) 54% (©) 55%% (D) 39%

9y The average age of A and B is 20 years. If C were to replace A, average would be 19 and
L ' if C were to replace B, the average would be 21. The ages of C, B and A respectively are :
’ (A) 18,20,22-L (B) 20,18, 224/ (C) 18,22, 20 (D) 20,22, 18 ®
(% AR B @l 3T g 20 9% 81 9 A F =W ©w.C @y £ 4 ot 19 €M7 &R A B % e w
| C T T & <7 o 21 2111 C, B &R A 3t g #5er: & - 3
(A) 18,20,22 (B) 20,18,22 (C) 18,22,20 (D) 20,22,18

20. Three numbers are such that first is twice the second and is half of the third. If the average
of three numbers is 56, the three numbers in order are :

V' (A) 48,24.96 S/ B 96,48, 24 ~(C) 96,24, 48 (D) 48,96, 24
%WWW%%W@@W%@TW&%W@%Iﬁﬁﬁw@ﬁaﬂﬁﬁww%
T S A e E ?
(A) 48,24, 96 (B) 96,48, 24 (C) 96,24, 48 (D) 48,96, 24

Directions for the following 2 {Two) items no. 21 and 22:

In each of the following two items, a statemént is followed by some conclusion. Choose the
correct answer for the conclusion.

frreferfea 2 (3 wewiett (@o 21 oY 22) F forg Fdar : .
aﬁ%%ﬁnﬁgﬁsﬁ%‘rmﬁ,waw%ﬁ%ﬁ@ﬁmw%lﬁ@%%ﬂaﬁwgﬁm

21. Statement : After rice, raw cotton, cotton fabrics and carpets are a country’s largest
foreign exchange earners.

Conclusion : At first rice was country’s largest foreign exchange earner. Subsequently it
was replaced by raw cotton and cotton fabrics. Now both these commoditics
have been replaced by carpets. '

(A) Definitely true. (B) Probably true ;

/ (C) Probably false (D) Definitely false /

FUT : AT B ATE FTH, T FUE F 96 AR A TH 39 % RSl T F w9 o 2

frrerd - 59 vRe AT 29 A Rl g e g aw o Al TG 9% H9G R GO B9 F 9
 FE T @ {0 3 G S ¥ 5 S 9vg et ar e & R ) '

(A) FiEgsr g adr s (B) dvaq: @& &

(C) ¥9aa: Taq & (D) Tef¥Ea &7 & o 2

T63/A : ' P.T.O.



N NDNN S B

6

@ Statement : The exercise has taught me that the silenc
a votary of truth. Proneness to exagg
willingly or unwillingly is a natura] we
in order to suppress it.

Conclusion : Silence Is very essential for Spiritual

becomes gullible and distorts truth. For

e 1s part of the spiritual discipline of
crate, to suppress or modify the truth

akness of man and silence is necessary

growth. Without silence a man

the discovery of truth, silence is
Very essential.
(A) Definitely true | (B) Probably true
() Probably false

(D) Definitely false
YT ww%gﬁ@%%%%ﬁqm%ﬁmﬁ%

7 } (<

FRITARE 307 2 ngfy T T 7 Ay 3 e ﬁwm%ﬁa%mw

ﬁww%ﬁw%ﬁ?wmm%mzﬁwmsw%!

TS B e gy 3 T & @ 3 frg, 9 9B 99T 3

g (B) Hvag: @ft &

(C) U9aa: wag & (D) Fftas &7 & g &
/ 237./} The sum of all four digit numbers obtained by using digits 1, 2, 3 and 4, is :
Qg/ (A) 100000

—~——— 2] f\//f
(B) 60000 (C) 66600 (D) 66660
FEH 1,2, 3 ﬁ4mmmméﬁmﬁaﬁwaﬁwmﬁwﬁw%:
(A) 100000 (B) 60000 (C) 66600 | (D) 66660
o @ If average of four numbers is 20 and average of their squares is 500. then average of their
A products taken two gt 5 time, is ‘ A 1)
/ //’ 4 ()){:é‘é"
o (A) 450 (B) 475 (C) 550 (D) 650 [ =
/// - ‘():‘/ . ) 2 3J : - s - NI Ay
x = Ir%?rrmwenwamazo%Wwﬁsmﬁm@wmo%mw&%«wmwang
-~ EARCI
(A) 450 (B) 475 (C) 550 (D) 650

A
v, . . . N . . . -
25. /The incomes of A_and B are in ratio 4 : 3 and their expenditure are in ratio 5 : 2. If cach
—» save Rs, 4,900, the expenses of B, is: — — '

Ue (A Rs 1400, By Rs 1,500

(C) Rs. 1.600 (D) Rs. 1.800
{° ASRB R oy . 5 YA T & o o e s 2% ST A 21 9 53% 4,900 573 2 e
Xﬁ\m% A B B2
)
' A(A) 1,400 B0 B) 1.500%0 (C) 1.600 50 (D) 1.800%0
Y On selling an item at Rs. 40 per k aﬁ"oss of 10% is incurred. If total loss of the seller is
, T Der kg g o
) ~ Rs. R0, then weight of items sold in kg, is: =~ —
. y |
Zi (A) 18/ (B) 20 ./~ ©) 21 D) 24
ra‘} k:\’ . .

- v\o . N CEas
™ I % ~ o
B e
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wa?@ﬁzmmgﬁfﬁ%ﬁéﬁw10%mwmm%wﬁﬁmmﬁwgomga}
STl T TGS T R e F 2

(&) 18 (3) 20 (C) 21 (D) 24

27. A shopkeeper claims to sel] items at no profit no loss, If he underweight_s items 800 gram
in place of one kg and adds 20% impurities, then his profit percentage will be - :

/(A) 20 B) 30 © 50 (D) 55 }ﬂw

wwwﬁ#wgﬁwa@aﬁﬁéﬁwwm%lWf%asa*@aﬁ#r’-wmaﬂ%wﬁ s
%m%aﬁlsoomm%sﬁ?wﬁzo%wﬁ;ﬁwwaaamwwgﬁfsm%ﬁm:

(A) 20 (B) 30 (©) 50 (D) 55

o

Directions for the following 3 (Three) items no. 28 to 30 :

Answer the following three items based on five numbers 386, 752,961, 573 and 839.
et 3 (&) wowioft (o 28 & 30) ¥ forw st . *

At demsdf 386, 752, 961. 573 &R 839 W amarRy Frfafs T B8 % R if)
' = Coaé® 7y %k 517 853

28. Ifin each number the second and the third digits are interchanged, what will be the sum of
the first and third digits of the largest number ?

\/ (A) 10 (B) 12 () 15 //‘ (D) 17

aﬁmmﬁgﬁeﬂiwmﬁﬁmﬁmﬁwaﬁﬁmww%@aﬁvﬁﬁ
7T BT I 97 2y 7 '

(A) 10 (B) 12 (C) 15 D) 17

28. If in each number, unit and hundredth placed digits are interchanged, the lowest number
so formed is :

\/ (A) 375 (B) 257 € 161 ®) 169 1 ~
(A) 375 (B) 257 ©) 161 (D) 169

30. The number at unit place. of sum of numbers at unit places of given five numbers, is :

(A) 1 (B) 2 (C) 3 ®) 5
\/ a?géﬁa@weﬁ%mwﬁwweﬁ%ﬁwwﬁﬂw%mwﬁw%;
(A) 1w (B) 2 ©) 3 D s

703/A P.T.O.
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‘7/ 31,/ The probabilities of four mutually exclusive and exhaustive events A, B, C and D, satisfy
(/ the relation : 2P(A) = 3P(B)=4P(C) = 6P(D). The probability of event C is
A Y. )
o TR Ay s ®) 15,/ (C) 4/15 (D) 25
[N e . . . ..
e L TR T SR OR 9 gee AL B, C afw D & STEATT H4e 1 2P(A) = 3P(B) = 4P(C)
vt =6P(D) B EgE FAT B T C 3 e &
“f
' (A) 2/15 (B) 1/5 (C) 4/15 (D) 25
. \‘ 32, A student has 1234 marbles. He wants to arrange them in equal number of rows and
Ll o \;” B columns. The minimum number of marbles that he nced more for this purpose arc ;
. ”)‘.\ R :
¢ e \//, (A) 62 -+ \/ B) 9 - (C) 3 (D) 1
P e

R CL - ok BPE VI ——— Tt AT o T & o = 3 5w giew
% fau sfofs F AT T, e o argeama BRI, 7

L (A) 62 (B) 9 (C) 3 (D) 1

" Three persons A, B. C had different amount of monev with them. C had an amount cqual
to the average of their total. A spent half of his money. B spent 2/3 of his money and C

//‘/T spent all of his money. The remaining amount with them is equal to half the amount. B
‘éé\“ initially have. The percentage of total amount spent by all together, is :
L/ a (A)y 50% (B) 753% v (C) 80% (D) 90%
/ \

| - o wrfert A B. C % 919 - ot smr”%lmﬁscaﬁrvfsﬁﬁsqﬁw [ B FT I F i
oo awéx/\mmﬁwﬁ@#m%m%BW%W*@#W%%WC&W{&W:#TW

R I 81 T A % o e gd A B 2 o O o e 3 e 2 o F U R off wed
yoY AT 3T = 1 T e e gl 2
(A) 50% (B) 75% (€) 80% (D) 90%

Read the information given below and answer the two items that follow

Five cities A, B, C. D and E are famous for one among : big gz%dens, rivers. educational
institutions, mountains and scents but not in the same order.
TR

—7-'—’\ / g e —siaeat
. A av_‘/ -t/
4 \Y’F.‘V 9‘ - ~ } . ﬁl/\ n . ‘\}/‘J\/ vy B/J'\/
T . (1) A and C has Aeither educational centers nor have big gardens. i \a bl 2~
- ".\"6,3)“ g~ -— e TAGU L ¢ T
{\ #° = J (1) BandE are not famous for rivers or mountains. /\% e "
| o .. : : e f Ly e
< } ~ (ii1) Scents and rivers have nothing to do with city A. 2 B N
E Y d 4
s - . . . oW
,f?_é(» Cee ) (tv) D and E are not famous for big gardens and rivers. C - :)*,‘wil“ >
o . N . L e , Y 11 e
] : (v) D is not famous for educational institutions. Guen, sy w on R
eyt , A o C?/T N
R K& > W e
€L dw [/ /

\A @ -
T oma | L/”’]/ L

JEN- TV ’i:w\ S



feretfeTRem 2 () wemiett (o 34 &R 35) ¥ forg frdar
ﬁ%ﬁ@ﬁ%ﬁﬁtﬁqeﬁ"{mwmW‘%Wﬁgﬁﬁﬁ?ww:

9" ET A, B, C, Daﬁ?Eﬁﬁ%@%mmé:@wﬂﬁ%ﬁﬁmw,maﬁiﬁ
sl 5 0 ¥ e

() ASRCH T dafvre ¥ & o 7 & % sy
(i) B R E et a1 gdaf 5 fw e =27 #)

(iil) =T A B & R A T a1y # I3y 78 3
(iv) D8R E a8 st ofR Rt & frg afrg 8 2)
(v) D e et & fo ofrg w8 8

34. The city E is-famous for :

(A) Rivers?& (B) Big gardens )<
/ « (C) Educational Institutions E\/\/\ (D) Scents. ’
| ymE R RaREE T i
(A) AT (B) ‘9% T
(C)  Srmfores dear D) &=

@ Which of the following city is famous for big gardens ? o
@ DA (B) E ©) ¢ X (D) B\
UL fefifem dd smmoma: o s o afig 37

T Wb (B) r/> © ¢ D) B

Directions for the following 5 (five) items no. 36 to 40 :

The following 3 items are based cn the following passage in English to test the comprehension of

&

English Language and therefore these items do not have Hindi version.. ..
Freferiae 5 (afer) wemistt (Fo 36 % 40) & fomm oot

e 5 ;rsmmiﬁrésﬁmﬁ'@aqﬁi@aqmﬂmﬁﬁ%eﬁimW%@rw%qﬁw%wa am
= qeie @7 =T qre 7Y Ry o e

Both plants and animals of many sorts show remarkable changes in form, structure,
growth habits and even mode of reproduction in becoming adapted to different climate
environment, types of food supply, or mode of living. This divergence in response to
evolution is commonly expressed by altering the form and function of some parts or parts
of the organism, the original identity of which is clearly discernible. For example,
creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for swimming, and is changed into prehensile arms that bear

703/A - ' | P.T.O.
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sectorial disks in the squids and other cephalopods. The limbs of various mammals arc

- modified according to several different modes of life - for swift running (cursorial) as in

the horse and antelope, for swinging in trees (arboreal) as in the monkeys. for digging
(fossorial) as in the moles and gophers, for flying (volant) as in the bats, for swimming
(aquatic) as in the seals, whales and dolphins and for other adaptations. The structures or
organs that show main change in connection with this adaptive divergence are commonly

identified readily as homologous, in spite of great alterations.

36. The most appropriate title for the passage, based on its content. is :
/ (A) Adaptive Divergence « \/ (B) Evolution
(C)  Unusual Structures (D) Changes in Organs

37. The word that can be best substituted for *homologous™ without substantially changing
the author’s meaning, is :

\/kA) Altered (B) Mammalian (C) Corresponding\\/(](J) Divergent
38. The creeping foot of the snail is seen in related marine pteropods to be modified into a
flapping organ useful for : ' Y
\// (A) Biting (B) Swinging (C) Swimming (D) Jumping

38. The author in this paragraph not provide information on :
(A) Factors causes change in organisms ©
. (B) How are the horse legs related té seals flippers
7L (C) Limbs of various mammals
(D) Theory of evolution, \/

@ The author’s style can best be described as :

(A) Humorous - (B) Patronizing (C) Esoteric (D) Objective \//
@/{} The remainder when a number 2851 (2862)2 X (2873)3 is divided by gi IS :
(A) 5 (B) 17 C) 184/ (D) 19
T U FE 2851 x (2862)° x (2873) 1 23 & s o e 2. SERCIER
(A) 5 (B) 17 (C) 18 (D) 19
42. \\\]“he number of zeros at the end of the number obtained, by multiplving the nmhbbrs from
@{;ﬁtolqgwinbe: ~ P
7 W16 (B) 20 CI 3
AR 100%8@(@@@@@3@%%5@@7%%&%9@% ?
(A) 16 - (B) 20 (C) 24 (D) 36

703/A
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/gi‘-;/.f A person makes a profit of 20% by selling a article. The percentage change in profit, if he

/ : icle at 209 sell (109 mhare ie =
k/ﬁ purchased the article at 20% 16:‘§§ and sell it 10% more, is : oSty ],)/@ M;}
LAy 50% (B) 8% @) 15% (D) 209" Lo > ®F (454

U% Afh T 967 & TTH 20% &1 a1 SR e 2 3f 7w 20% FH R I8 Gl 2 S Tqe
10% e qX a=ram &, a1 re § gfere qfted & - :

(A) 50% B) 8% (C) 15% (D) 20% f/ﬁ‘?
) | T ol

%1/4,/ The triangle 4ABC with perimeter 56 and sides BC = x + l,AB=4x and AC = 5(x — 1) iswof
N ‘ =T ,

type : // e b/‘ ;_,l,’__:—‘—L’-)—{‘S ge — %7:\}

(A) Right angle triangle \ / (B) Obtuse angle triangle =2 <

(C) Equilateral triangle (D) Isosceles triangle %

78 RIS 4BC &0 g 371 & frgar qﬁmvsmﬁ"{amﬁz;c:ﬁ1,AB:4xeﬁuC——~5(x—1)

g7 : ;

(A) TH& B (B) o1t iy Bragr

(C) wweTg Bt () waizaTg Brgsr

43.  The first bunch of bananas has 1.3 times excess o as many bananas as in the second
bunch. If difference of bananas in two bunches is 12, then total number of bananas in two

/""ﬂ bunches, is : o Py a9 &C ' /\i//ja;é ;7;* 5*5//7(1/%1;»( %
VoA 46 B) 4 v (© B =Ept (D) 927w
z W%Wﬁ@ﬁ@@aﬁmﬁ1.3wmﬁ%iqﬁﬁwﬁﬁ%ﬁ&ﬁm\mm%a‘"raﬁ'r
70 T g e @ e § | |
Vw L(A) 46 (B) 40 (C) 63 (D) 92

" 48. /The sum of ages of a father and son is 45 years. Five years ago the product of their ages

\\/ was four times the father’s age at that time. The twice the difference, of father and son’s
age is:

(A) 72 (B) 5 (€) 90/ (D) 54 L j/\

U f9aT of g &7 ang &1 AT 43 ﬁ%lﬁﬁ%@mﬁaﬂgmwwwwﬁwa&w
BT AT AT 97| e o 9= #1 oy & e @ g & |

(A) 72 (B) 45 (C) 90 (D) 34

E;\\ In cyclic quadrilateral WXVZ, the measure of angle Z is 10 more than twice the average

" of the measures of other three angles. The measure of angle X, is : " W
(A) 150 (B) 0 (C) 120 (D) 60 =7 '
T IGT WXYZ 5, B9 Z =1 717 o 4 i 3 At ¥ ofvem &G 10 Jfow 2| Hr X 3
9 E
(A) 150 B) 30 \/ (C) 120 (D) 60

Fx BT J—)‘.\A* S——— A a - . o




) -
v/ 5
s
12 — 1 o’ ~——

48. Brand I solution of sugar syrup has 15% sugar arfd another brand 1I, solution has 5%
sugar. The quantity in litres of the second solutiop, must be added to 20 litres of first
- solution to make a solution of 10%, is : s ‘ e
\/ (A) 5 (B) 10 C) 15 D) 20 &/
= % S A [ B 9§ 15% @9 % ot ore A 1T 3 g B 5% T B e g &
20 foret wram & 37 A A R s, Rre i e ST =3 A% 2 10% Bt arm a2 7 0
(A) 5 B) 10 (C) 15 D) 20

Directions for the following 2 (two) items no. 49 and 350 :
Read the information given below and answer the two items that follow :
(1) P, Q.R,S. Tand U are six members of a family. each of them are engaged in some
different professions viz. Doctor, Lawyer, Professor, Engineer, Pilot and Manager.
(i) Each of them stay at home on different day of the week. starting from Monday to
Saturday.
(iii) The Lawyer, in the family stay at home on Thursdav.
(iv) R remains at home on Tuesday.
(v) P isadoctor by profession. does not stay at home on Wednesday and Saturday.
(vi) S is neither the Doctor nor a Professor and remains at home on Friday. |
(vii) Q is the Engineer and T is the Manager.
e 2 (dn) womiett (Fo 49 i 50) % fera forder
%ﬁﬁamﬁmﬁ?mwsmwﬁmﬁgsﬂsﬁ%wéﬁq:
) P, Q'R S, TR U U% 9Rar & & weeg & T F T UH 0 wmae oo § iR

ot
(i) 9 & 59, SR ﬁ%%(%?lmmﬁ,wg%@%ﬁ?ﬂmk ST B
(i) FRIR 7 7 TEAR aﬁrgqrw T8 -
(iv) R = W 577N # 38707 2] ,
(v) P I H U eE 2, 98 7 R R S 9FER o 8 s 3
!

a

(vi) Sqaﬁgﬁa%aﬁwﬁwmaﬁ?a@mwwzﬁz E

(vil) Q &z R g aik T &) R . P
X ’
7 iq the P; -0 et e ’VHH
49, Xﬁho is the Pilot ? P y ('jd/«l, 2
(LAL) S \2;_,\5
B) R Q@ o
(D) Can’t be determined from given information o N
‘\m = N dev Pls
TRE B 7 3 akl
\/ (A) 8+ - ™
(B) R /
(C) U . , U /ﬁivw Loy
(D) 1 7 AT & FrffRa T e o mer ARSI s

TO3/A
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Which of the following combination is correct ?

(A) Pilot-Friday L2V (B) Lawyer—Tuesday
(C) Professor—Wednesday (D) Engineer-Thursday
ettt & & avar ear a2 :

(A) FITE-gFaR - (B) I9@-9Tqar

(C) HTHER-gear (D) FwifER-Tear

Directions for the following 5 (five) items no. 51 to 55 : @z\m

The following 5 items are based on the following passage in English to test the comprehension of
English Language and therefore these items do not have Hindi version.

N

T 5 (1) WeRieT (Fo 51§ 55) & forg forder -

Frfafe s gsﬁwm%ﬁrﬁﬁamwaﬂmﬁa%aﬁ?mW%{ia‘rw%vﬁw%méf T
EQSHTSﬁW%E‘T%FﬁﬁWWW%I

51.

52.

703/A

“ihe emancipation of women,” James Joyce told one of his friends, “has caused the
greatest revolution in our time in the most important relationship there is — that between
men and women.” Other modernists agreed : Virginia Woolf, claiming that in about 1910
“human character changed,” and, illustrating the new balance between the sexes, urged,
“read the "Agamemnon,” and see whether — your Sympathies are not almost-entirely with
Clytemnestra.” D, 1. Lawrence wrote, “perhaps the deepest fight for 2000 years and
more, has been the fight for women’s independence.”

But if medernist writers considered women’s revolt against men’s domination one of
their greatest and deepest themes, only recently — in perhaps the past 15 vears — has
literary criticism begun to catch up with it. Not that the images of sexual antagonism that
abound in modern literature have gone unremarked, far from it. Byt what we are able 1o
see in literary works depends on the berspectives we bring to them, and now that women —
enough to make a difference — are reforming canons are interpreting literature, the
landscapes of literary history and the features of individual books have begun to change.

The title, best describe the content of the passage, is :

(A) Towards a New Criticism

(B)  Modernist Writers and the Search for Equality

(C) The Meaning of Literacy Works

(D) Transforming Literature

The author’s attitude toward women’s reformation of literary canons can best be described

as one of :
(A)  Skepticism (B) Endorsement\/(C) Indifference (D) Ambivalence -

P.T. O.
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53.

54,

N

35
\'//
éa

L//

57

703/A

The author quotes James J oyce, Virginia Woolf, and I3. H. Lawrence primarily in order to
show that : ‘ '

(A) These were feminjst writers
(B) Although well-meaning, they were ineffectual
(C) Modern literature is dependent on the women’s movement <

(D) The interest in feminist ; 1SSues IS not new \/

According to passage, women are changing literary criticism by :
(A) Noting instances of hostility between men and women

(B)  Studying the works of carly twentieth century writers

(C)  Reviewing books written by i”eminists p

(D) Seeing literature from fresh points of view \/

The word not describe the meaning of “emancipation”. s -
(A) Freedom (B) leeratlon (C) Restraint - \/D) Freeing

The number of different pizza orders can a customer place, if he has options with 3
different crusts, 2 sauces and 10 different toppings are ;

(A) 120 (B) 60 ©) 216 D) 64
mmmﬁfrwwwwﬁwﬁm SN 21 e feeeht 2, 2 v o 3 R <
(F7=), 2 Tt (wr BTE) SR 10 fafter 2R % Reer 2

(A) 120 ®) 60 ©) 216 (D) 64

Kanika said to her friend that yesterday, I attended the birthday party of the son of the
only son-in-law of my mother’s mother. How is Kanika related to the man whose birthday
party she attended ?

A Daughter (B) Mother (C) Sister (D) Niece

W%m&aam%mﬁmwﬁw%w%magﬁ%mﬁw
W!Wwaﬁg%%wwﬁw%ﬁmﬁaﬂﬁ?mﬁfwaw%m?

(A) T (B) #m@r (C) a&v (D) 9T /sist
The next nu/zbel in 2611652 3/2.10/3, 15/4, 26/*. Ry s oy n )

5V P S AT 5 242
A S—o B 6~ i / (/ — Wy Y (D) 8= .
(A) S 7 ® R g R

gufy 2, 3/2,10/3,15/4, 26/5, ... H el dEr

5 1 v 5 . 5

(A) 5 (B) 6~ (C) 7= (D) 8=
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38. The three of the following are alike in a certain way so as to form a similar group. Which
one does not belong to that group ? '
(A) Plant (E) Branch (C) Root (D) Leaf
/! ﬁvﬁf@?wﬁﬁm@ﬁfﬁwawwésﬁrwmawmwwél ET-HT U I
MR CEARRS I & |
fmwmﬁ/ (B) & © = (D) it

é@ If the sum of squares of 3 distinct numbers is 1, then the sum of their product taken two at
a thine, lies in between :

(A) —% and 1 \/(B; % and % () —;— and 1 D) —% and%

ﬁe%ﬁmWﬁWWJ%ﬁﬁwwmmﬁﬁWﬁﬁmww%ﬁm

CRU I

1 1.3 1 i 1 .3

A) ——= 3R By — k= C ~aﬂm D) —-—ar=

(A) = ¥R (B (€) (D) 5 2
61. The ‘Shoe’ is related to Leather in the same way as “Rubber’ is related to :

{A) Plastic (B) Latex » . (&) Polythene (D) Sleeper
VAWmeWMWW%HWM%WW§

(A) wiesq (B) e (C) wfty (D) =

62. Nupur walks 9 km East, turns South-West and walks another 8 km. She again takes a turn
towards North-West and walks another 4 km. In which direction from her starting pom,g/ls

Y she standing now ? / v il 3
. 7 (A) South-East v (B) North-East (C) West (D) East ’jl;/*ﬁ
TR 8 1 AR 9 oy =t & WWW&%@?W%@TSWW%I%WW- B "
B2 T & i o 4 ey W%l%mmwﬁg%ﬁwﬁwﬁma‘&%? |

(A) =g B) T (C) dfemm D)
83. The sequence of missing alphabets in the series PQR S | (RSP | RS P@{ SPQ gis :
AA)SQQPR (B) TTSQR (©) SSQQR (D) SQPQ_R/‘</
\/’ T PQR | RSPIRS | SPQ _ & sguftert srerd @ e & -
(A) SQQPR (B) TTSQR (C) SSQQR (D) SQPQR

/64,7 In Chess tournament each player will play with all other players twice. If total matches
played in the tournament are 272, then the number of players who participated j Lis:

(A) 16 (B) 17\/ ©) 19 (D) 23
SWWWWWWWWrWWﬂW%WS w@ﬁwlaﬁmgﬁﬁﬁww
T 272 B9 G 1Y, ﬂ@ﬂﬁﬂﬁmﬁﬂﬁﬁﬁ%@ﬂﬁ : | LV’
(A) 16 « (B) ©) 19 (D) 23

703/A \&/\7“/\/0\ @”//CD @ m
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65. Ifthe word ‘TEMPLE’ is coded as ‘VHQURL’, then code for word ‘§ITARAM’, is :
/A} ULXFXHU \‘/ (B) ULXFYHU C©) ULXGXHV (D) ULXFXHV
M I TEMPLE® 2 "VHQURL’ & %zag Ry o g W= SITARAM: 35 fog e 2
(A) ULXFXHU (B) ULXFYHU (C) ULXGxHV (D) ULXFXIy
Directions for the following 4 (Four) items no, 66 to 69 -

Read the information given below and answer the four items that follow :

Once, an ant who had come to drink at g stream, fe'l into the water and wag carried aw

by the swift current. She was in great danger of drowning. A dove, perched on a near

tree, observed the ant’s danger and dropped a leaf into the water. The ant climbed or
this and wag safely out. Sometime after this, a hunrer, creeping through the bushes. sz
the dove asleep and look 2 careful aim with his gun. He was about to fire. when the a
who was nearby, crawled forward and pit him sharply on the ankle. The hunter missed h
aim and the loud noise of the gun awakened the dove from her sleep. She saw the dang
and flew Swiftly away to safety. Thus, the ant repaid the dove, for having saved her life i
the foaming current of the stream. A

FrerferRae 4 (FT) a9iet (do 66 7 69) F form et -
ﬁ%frﬂémﬁamaﬁwﬁq&ﬁxw%wmmmmmwﬁ%waﬁq:

66. The ant repaid the dove by :

(A) Having love with dove (B) Droping leaf in water

\/ (C) Saving the ljfe of dove from animals (D) Biting the hunter > \/
T T FGR 37 oy g7 | |
(A) #7 & o a5 (B) 7 &1 o+ & g

() W%Gﬁwaﬁwmﬁ%m (D) @ 7 sreay

703/A
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67. The dove was in danger because :

/7‘
+(A) A hunter was about to shoot him - ¥ (B) There was some big animal nearby

A/ / (C) It had fallen off the branch (D) Carried away by the swift current
ST G | o7 Fifes - |
(A) U [rer SHaT T A a1 41 (B) U ¥97 IR G-I 971
(C) ¥ &l & A [ 4y o (D) 98 9 4RI ZRT 987 fegy &
68. The dove dropped a leaf into the water to :
(A) Drown the ant ’ (B) Savethe ant * \/
// (C) Measure the current level | (D) Perchonit
v SR T OTAT H o R | -
(A) T B gam A B R B) d F T F f
(C) 9T & WX A9 § [T (DY &9 BT aw+ & foa
89, The ant came to the stream tc :
(A) Carry out some water for kids (B) .Look at the swift current
(C) Drink fromit | \/ \ (D) Take bath in it |
AR A AT
Y (a) T R g o A 3 R (B) & 3 ¥ 5
(C) gH § qmI U+ & fow (D) 78" T & fow

70. The difference between the interest received from two different banks on Rs. 750 for 2
years is Rs. 90. The difference between simple interest rate charged by two banks, is :

L) 2% (B) 4% © 6 D) 8%
Vi BE 750 W2 9% % fu &1 srer-ofer 351 ¥ 96 @ 1 oK 599 90 ¥ 7 89 F A few
IR &0 X & &g A= @ - gﬁﬁ’g’/w
(A) 2% (B) 4% (C) 6% (D) 8% 1= N
Birections for the following 5 (Fivz) items no. 71 to 75 : @ >

Read the information given below and answer the five items that follow :

In each question below are given four statements followed by three conclusions numbered
L, I and III. You have to assume the given statements to be true even if they seem to be
deviate from commonly known facts. Read all the conclusions and then decide which of
the given conclusions logically follows from the given statements, disregarding
commonly known facts. ‘ '

703/A ‘ ' P.T.O.
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Frerferfae 5 (o) womisht (Ho 719 75) % Ry frder

ﬁ%ﬁﬁwﬁaﬁﬁqaﬁxmqﬁ@aﬁmﬁagaﬂwﬁ%wﬁﬁm |
ﬁ%ﬁﬁ@mgwﬁﬁaﬁamﬁﬁ@%wmaﬁﬁwm IT &R 111 T 713 §] sroey fe
@m@ﬁaﬁwﬁwﬁ%w:ma@%ﬁ%@%@meﬁﬁf SEIREET
ﬁqeﬁwaﬂ%wmﬁﬁaﬁﬁm%ﬁ%@ﬁwfﬁﬁmﬁ%@W%g@@%a@v&a

%%,WWH@H%W%%WI

71. Statements :
All desks are pillars.
All pillars are circles.
Some circles are squares.
Some squares are rectangles.
Conclusions :
Ve
Il Some circles are desks.~/ .
II. Some squares are desks. -+
Only I follows
Only III follows

(A)
©)
YT ;
T 3w Ty 2|
Tt Ty g §)
TT g9 T £
B a9 o7 £

I 2% o g ?)

I %537 3w 8

I 3% 7 ¥ 8
(A) P I STTER T &
(C) % 111 ey e &

72. Statements :
Some plates are knives.
All knives are chains.
Some chains are wheels.
All wheels are poles.
Conclusions : ;
\/ L. Some poles are chains.r\/
‘ Il.  Some wheels are knrﬁéas.jf(
HI. Some chains are plates A

Only T follows
Only T and II follow

(A)
(©)

703/A

Some rectangles are pillars. —

(B) Only II follows ’\//

(D) Only I and II follow

(B) &a« 1T SRy ey 2
(D) &ae 1317 11 ey o &

(B) Only I and III follow = ’\//
- (D) Only I and 11T follow



73.

N

703/A

YT :
P e 1§
a7 =g S €
FT i qfd &
SEIRIEE R
ferepef -
I 997 59 2
I Z&ufey =g €
I 35 &6k @ 2

(A) P [ STER wear &
(C) P99 1 &R 1T arqeme &y &

Statements :

Some roses are flowers.

Some flowers are buds.

All buds are leaves.

All leaves are plants.
Conclusions :

L Some plants are ﬂowers/

II.  Some roses are buds. o

III. No leaves are fOf—‘{Si 7L
(A) Only I follows
(C) OnlyIand I foliow
&Y :
FO [ FAE]

T G o 2|

B Hieral afert 2

SEIRISEIRIEES

I o9 gy &)

I ZB 99 SiEf &

1. @1 9t e & 2|
(A) & 1 TaRe ot 2
(C) FEI SR 1T ergemer vy &

19

(B) éﬂmaﬁunwmé
(D) %ae 11 &R 111 &7y & &

(B) Only I and IT follow \/
(D) Only II and III follow

(B) Wlaﬁrnwaﬂ%%
(D) e I1 7R 111 STgerr & &

P.T.O.
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74, Statements -

Some shoes are socks.

All socks are towels.

All towels are bedsheets.
No bedsheet is blanket.
Conclusions : ‘
I No towel is blanket. \/
\/ I Some shoes are towels.v/ 2
I Some shoes are bedsheets.. \//
(A) Only I and I follow . (B)  Only I and 111 follow
(C) Only I and T1J follow (D) All follow /
FT
TY T A B
T A difery 2
7T Hifery Trey 2|
FIE =T Fr T4 3
L 1% Stfear s 721 3
. o 3 aifed &)
I 3o 3 =7e §)
(A) &9 1 SR T s sy & (B) &% 1 R [T a1 &y &
(C) W I & 11 vy ey & (D) &t sma gy

‘ o , ”Cy?/.;
75. Statements : ) Y >\> C\
All chairs are tables. / a C/ : /’!

All tables are telephones.

7

All telephones are cel] phones.
No cell phone is computer. g
Conclusions :
L All cell phones are tables. PN
I, Some chairs are computers. 7\
HI. No chair is computer. 1/ '
(A) Only 1 follows (B) OnlyII foliows

(C) Only UI follows »A@ \/ (D) Only either II or I1] follows

703/A
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FYT ;
TH HhaT a5 ¥
T 55 Tl 8
T SHT Jaer 8
BIE GABI ey o 3
- e
L & gawm 35 &)

(C) e I &gy gy 3
a

(B) %9 1T a1y oy &
(D) mmﬁﬂmlllww%
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;/1 '
7&. /’ The number of times 3 appear, number writing from 1 to 1000, is : /
y 7YY
(D) 300~

(A) 243 (B) 246 (C) 297

- (A) 243 (B) 246 (C) 297 .’ (D) 300

Directions for the following 4 (Four) items no. 77 to 80 :

Read the information given below and answer the four items that follow :

The modern civilization js completely depending on energy, which has therefore 1o be
abundant and also €conomical. About 90% of the world’s energy is supplied by oil, coal
and natura] gas, while nuclear, hydro, wind and solar power and biomass supply the rest.
Coal, nuclear and hydro are used primarily to generate electricity while natural gas is

widely used for heating. Eiomass is used both for heating and cooking. The wind and
solar power is the future’s Hope as they are sustainable encrgy sources: Oil powers almost

all machines that move and that makes oj] uniquely versatile. Oj] powered airpla

nes carry

500 people across the widest oceans at nearly the speed of sound. Oil powered machines
produce and transport food, Oj] powered machines are ubiquitous, Clearly, we live in the
age of oil but it is drawing to a close. According to data available if oil production

remains constant unti i gone, there is enough to last 42 years. Oil wells will

produce

less as they become depleted, which wil] make it impossible to keep production constant.

Similarly, natural gas and coal will Jast another 61 years and 133 years respectively.

Naturally, as they become scarce, they become expensive, leading to a worldwide energy
crisis. If we are to survive on this planet, we have to make a transition to sustainable

energy sources. The transition may be willy-nilly or planned — the chojce jg ours.

703/A
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The drawing era of limited and expensive energy will he very difficult for evervone o
carth but will be even more difficult if it is not anticipated. It is of Utmost importance tha
the public and policy makers understand the global energy crisis and act fast to ensure thy
the energy sources do not become extinct.

e 4 (FR) F97I9TF (Fo 77 & 80) = forg fayer
?ﬁ?‘:a“rWémmairw%qaﬁrw%wm&ﬁmwgswﬁ%zmm:

77.

78.

703/A

@H%lﬁawwaﬁmﬁﬁ,ﬁwﬁ%,ﬁsr%w%ﬁ%ﬁa%ﬁﬁ%w%@@m
gl é&rﬁm‘gﬁmmwwwﬁrﬁvﬁfésoo aﬁvﬁaﬁrwwﬁ%wm%m%’f%ﬁﬁ
mfgﬁqsﬂﬁ@mwﬁwmwﬁ%aﬁiwﬁwmﬁl%%Wgﬁwﬁ#m%}
wmé,w%%wﬁw%%ﬁﬁﬂ%wwéwm@%f ST SIFE F ogER, ey
WW&WW%@W%W?@@W&W%W%%&MQa&ﬁwwm%i

YT B ST !mﬁmﬁ,w@m WWWW&T:GJW@R 133 a9 & oin = w0,

T T2 W, sy e 2

The theme of the passage is ;- v
(A) Changing lives (B) Looming energy crisis
(C) Energy resources P (D) Power in today’s world
AR @ e & | |

(A) Tz Fey | (B) Sl e degmr

(C) oo &% g (D) & & 3fvar #r g
Biomass is an cnergy source used in - |

(A)  Agriculture (B) Industry (C) Homes : \/ (D) Offices
%fgﬁmm@ﬁ%ﬁmméz

(A) vy (B) T i (C) = F (D) THRT



79. The energy sources for the future are :

(A) Nuclear and hydro power (B) Coal and natural gas
\// (C) Wind and solar power \/ﬁ Va (D) Oil and biomass
~ %
wiaw & forg S =i 2 |
(A) "ITH@ iR iy ufde (B) @M AR qEfos T
(C) Taq iR R ks - (D) T 3R o7 e

80. The survival of mankind will depend on :
(A) Maximum use of available energy resources
(B) Transition to sustainable energy resources
(C) Regulation placed on energy consumers
(D) Keeping the level of energy production constant
AT ST &l SRS R BT

//\« (A) TOe=d S AT b ATUFHTT IUIT W

V(B e et E o R o

(C) T SuHRrel W orfafee e ®
(D) @il SeuTeT & 'R ReR @ ™

Directions for the following 2 (two) items no. 81 and 82 :
Read the information given below and answer the two items that follow

There are 120 musicians in a club and 5% of them can play all the three instruments viz.
guitar, violin and flute. It 50 happening that the number of musicians who can play only
two of'above mentioned instruments is 30. The 40 musicians can play guitar alone.

TRt 2 () wemiett (Ho 81 ofr 82) % forg fder
21 T8 AR &1 e AR I TYETT S aTe BT e % IR ST

U &9 7 120 S 0K & o 390 & 5% a7 1 4t 3 Frer, amafes o argd I T Fhd 2
Te §IrEY & & o7 SiaER B ger 30 %Gﬁwﬁﬁ@a‘aﬁﬁamamwméiw

frer o w6 aer efimeR 40 81 T 'Jé\ A Dl
@ The musicians who can elthel play violin alone or flute alone are : /'ﬁ? @«//31 o

(A) 40 (B) 38 (©) 447:fq (D) 46
I FATARI, ST AT T S araiert A1 Hae argl a9 qahd 8, @ e §
(A) 40 (B) 38 (C) 44 (D) 46
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Zé/ The musicians who can play only one or all three instruments, are
- (A) 106 (B) .90 (C) 88 (D) 86
ERESEIGEang ﬁmwmaﬁaﬁﬁ?ﬁaﬁwaﬁ%{ B HE R
(A) 106 (B) 90 (C) 88 - (D) 86

83. Ina factory capacity of a solution tank A is 70% of the capacity of the another tank B. [f
Tank A’s ful] capacity is 14000 gallons and at one particular moment it is 80% full and
Tank B is 40% full. How many more gallons of solution are in tank A than in Tank B 9

o Sy, (AJ 4200 Gallons | (B) 3200 Gallons,/« *
> AL (C) 2800 Gallons (D) 6300 Gallons
W%Z U% HREN ﬁW%%AﬁW@%Bﬁwmm%%lwﬁ*%‘amaﬁwzﬁwmooo

O T % SR U W W 7w 800, TS ® SR 35 B 409, I B 28 A § 3% B a5 o
AN BT % fb ot e

/ ; \‘

L \& (A) 4200 Fre (B) 3200

1AM A5 (C) 2800 Fam (D) 6300 s
A

0
%4 ABCD is a square of side 2+/2 ¢m and M, N are mid points of sides AB and AD
7 respectively. The‘n/the perimeter (in cm) of trapezium BDEM so formed. is : 4 Vi R

e \/ (A) 203+ \/5) ° / B) 202+ \2) Jﬁﬁ\ i.-’ g{’{;

57 () 21+ ) (D) 2(1+3+/2) ;‘4 —°
/ ABCD g9 24/2 T B 0F 7 E ok M, N I AB R AD B wer g 21 5% e
T TE TG (S ) BDNM &1 9Rmmg (et ) # .

(A) 2(3++2) (B) 22+ +2) e =
(© 20+42) D 214333) o L5 ()
A\ >

85. The least multiple of 7, which leaves a remainder of 4, when div_ided by 6. 9. 15 and 18,

—

is :
7 /”—‘\) A /-‘;\\{"
\/ (A) 844 1% - (1) (704 , >4 © 3647 7 (p) 94> @

WO 7 H 78 W6 o o & 6.9, 15 9 18 o fmm e 8 1 s S5 s
(A) 844 (B) 704 (C) 364 (D) 94
Directions for the following 5 (Five) items no. 86 to 90 : =

Read the information given below and answer the five items that follow :
The five cities A, B, C,Dand E are connected by different modes of transport as follows :

(i) AandB by boat and rail _— e P

(i) Cand D by bus and boat N £~ o

(iii) B and E by air only | 4//;’?:(/ 4

(iv) A and C by boat only 3 ] > _vj,;_-_ﬁ

(V) Cand E by rail and bus F—’z"’r; RIS
703/A . Q—/’QJ:?



FeafTiae 5 (ate) weHieTt ("o 86 & 90) F forw frder
ST 21 8 STeeT @l ey SR SHE UvErg ST aTer die YT & o IR

Iﬁ'wmA,B,C,DaﬁIEwﬁm%Waﬁﬁmﬁmmémﬁ@%‘g@%:
() A SR B TE S g o]

(i) C 3R D a9 iR 719 &1

(iii) B @R E %ae fom &
(iv) A &R C Fad 919 &1
(v) C3RE &R 99 517

86. Without changing mode of transport, which mode of transport would help one to reach C
starting from B ? /
A(A) Air (B) Bus (C) Rail (D) Boats
aReed & §iF & 9a fo, oReed & SF-a1 al@r = &1 B § 9%9 &% C 0% q59+ § 79
% ? |
(A) EEIN B) T4 © @ D)
/‘
@ If a person visits each of five cities startmo from A, which city he visited twice ?
" @ D ® o/ © B ©) A
¢ UF ARE, A § UCT 31F TS V6T &) 9050 FA1 &, 97 - 8T & 3G9 &7 g g & ?
(A) D B) C (C) B D) A
[ 88.  Between which two cities, maximum travel options are less than four ?
AT W) ®D) ® A0  (© B0 O AB (86
' FF-8 27 95t F 99 erfumay 7 e A w7 ‘
(A) B,D) B) A C) © B, C) D) (A, B)
89. Which pair of cities are directly connected ?
/(A (AE) (B) (A, D) (©) B,D) D) (B.E) ¢ \/ |
e & IE HIF-T1 T & s T o H AT g E ?
7 (A) (AE) (B) (A.D) (©) B,D) (D) (B,E)
\ -
QG ) The cities where one can’t travel bv air, are : ,
T (A) AB (B) A,D.E (C) A,B.E D) A, CD -
S T e -8 § e i of s R am ) o e 7
\/ ] s
(A) A'B B) A, DE (C) A,B,E (D) A,C,D V/
703/A P.T.O.
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Directions for the following 5 (Five) items no. 91 to 95 :

Read the information given below and answer the five items that follow :

In another tragic Indian Air Force accident, a Mirage 2000 trainer aircraft crashed ¢
01/02/2019 after taking off from Hindustan Aeronautics Limited airport in Bengalur
killing two IAF officers. This aircrafs was upgraded by Hindustan Aeronautics Limite,
This aircraft crashed Soon after taking off, suggesting a possible problem with landin

gear. The accident adds o a growing list of JAFE aircraft crashes in recent yvears. Th

Bengaluru mishap comes days after a Jaguar fighter crashed in UP’s Kushinagar. AJ] ¢
this is indicative of 4 deeper problem with aircraf inventory and maintenance. It's e
known that TAF hag a severe.shol'tage of aircrafis. It's down to 30 ﬁghter squadrons
which in another few years will be whittled further to 26. This has created a situation,

iv% where decades-o]d aircraft like the Mirage 2000 have to be uperaded 1o extend “their
s T Y PR i

operational lifespan. Of course, only experienced orivate players should get 'big:t“ia—(et
contracts for defence production and maintenance,

The “Jugaad’ approach simply cannot continue. It tndermines our defence preparedness
and put our officers at risk. We need to ramp up indigenous production and create an
American—style military-industria] complex. This requires greater participation of the
private sector. Defense PSUs have a terrible track record ag exemplified by the Light

Combat Aircraft Tejas project, which has taken more thap three decades to reach the
induction phase.

FreferfeT 5 (FT%) HeTist (5o 07 2 95) % forw frer

S 2

703/A

Wémmﬁﬁw%qaﬁtw%wmmmﬁﬁagwsﬁ%wﬁﬁm

U SR Ay A ﬁg:@zgﬁaﬂwﬁw&mﬁzooo AEE B9 01/02/2019 B S F
%gwifmﬁav%rﬁ%gw%%ﬁm%mmﬁw,WﬁMF TERT @ 1 B

aﬁw%aﬁﬁW@IAP %Wﬁ%@@ﬁ@ﬁm%ﬁ%:mmm
gésrésgsﬁwwﬁ‘agwmﬁnw%m@%%@ﬁﬁmgéélﬁwﬁmﬁa%w%-
Wvﬁ?@-m%m@mwﬁsﬁxmw%fW%@m%%wm%w
ﬁwﬁﬁwmélmwmmw L TR &, O % 55 ST a9 § i s aw 26
wﬁmﬁﬁ!mwvﬁ%ﬁmﬁﬂé%aﬁmﬁmﬁwﬁﬁﬁw 2000 &7 3935 Brshe
?ﬁwmﬁw%mﬁqmwﬁﬁw ﬁ:ﬁg,msﬁwﬁﬁﬁmﬁﬁﬁwm
\ﬁmw-m%ﬁqw&%ﬁa@m mwﬁﬁ@émﬁﬁwamﬁfwsﬂﬁmmﬁ
ﬁgﬁwﬁ%eﬁwmwﬁﬁw&wﬁ%:éﬁ@%&ﬁs‘ﬂmaﬁr@?ﬁﬁﬁm
@nﬁaﬁ@m%ﬁ@%@ﬁﬁﬁ%&%%l%%ﬁﬁ%ﬁﬁﬂ%%@ﬁﬁ
Wﬁ%zTW%W%EW(PSUS)mﬁwm-%m%w%%ww%m
HTS?ﬁw@z@mmW%ﬁ‘fﬁ%ﬁwmﬂwﬁ%ﬁ%ﬁﬁ?aﬁ%ﬁmmwﬁ%ﬁ



The name of aircraft crasted in Bengaluru on 01/02/2019 is : ;//1'

/ (A) Jaguar 2019 (B) Airbus 320 (C) Mirage 2000 »JV(D) Tejas 2019
TS | 01/02/2019 FT gHERERT BN AT | &1 A E |
(A) SIAR 2019 (B) TIEE 320 (C) Fr 2000 (D) 5T 2019

w
ah

<

;’f}""‘"i\)
\

92 /U The approach used to increase the lifespan of aircraft is :

27

= ’ (A) Total overhauling (B) Jugaad
(C) Upgrading internal technology (D) Changing all defectlve parts
P ot e 5 o v ey R
7\ (A) T &% ¥ SF &R TR B (B) IR
(C) AR® q&v® & I HTT € (D) @ gl AT & e
93. To setup, American-stvle military-industrial complex in India, which sector’s
/ participations are suggested ? . \/
} / ~(A) Government sector (B) Private sector *
v (C) Autonomous bodies (D) Semi government sector
Wﬁﬂﬁ?ﬁﬂﬂ@ﬁ%ﬁﬁﬁ%wwﬁﬁmﬁﬁmﬁaaﬁ%@mﬁ%wﬁﬁ@% ?
(A) & & v (B) Tl &=
(C) @@ e (D) o1 TR &7
/ g: / At present the number of fighter squadrons IAF has :
{ @) 2 (B) 26 €) 28 D) 30
é/g\( A |, IAF % 919 @eTg @dlen! @ e & |
C (A) 25 (B) 26 - (C) 28 (D) 30 \/

85. The aircraft crashed in Bengaluru was upgraded by :
(A) Central Govt. military workshop in Delhi
(B) Bengaluru Aeronautics Limited

\_\// (C) Hindustan Acronautics Limited » \//

(D) Pune military-industrial Workshop

e | gHeATIR BU W & fue s foe a7 7
(A) F=IT TR 4NE a6y, R

(B) &rgs ATeET ffiee

(C) TEgam™ Wmteay ffieg #

(D) 9o &fve et gy

703/A ' P.T.O.
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96. The day of the week. on birth‘ of Haryana state i.e. on 01.11.1966, is :

, %
/" (A) Friday (B) Saturday (C) Monday (D) Tuesday u\/
Vo EREr e # SR o A 01.11.1966 T, w9 &1 R S
AW e (B) iR (C) wrR (D) R

97.” A sum of Rs. 2 -100 has to be used to give seven cash prizes to the students. If each prize
is Rs. 20 less than its preceding prize, then number of timas the maximum prize amount is
more than minimum prize amounts, is :

(A) 12 (B) 1.3 €) 1.5 ‘/1 D) 2
e &7 @ e TR 3 B R 2,100 BT BT ST G0 B S 2| Al acie o e
TR AT TEER G 20 5 ST B &, 1 A GO R A e i s o s

P

yoG

(Ay 1.2 (B) 1.3 (C) 1.5 Dy 2
98. If the interior angles of five-sided polygon are in the ratio 1:2:3.:4 3, then sum (in
=, /deorus) of measures of smallest and largest angles. is : e
< !
/é:\ \;, (A) 216 (B) 252 © 108 (D) 324 -
(O ot st i g ot ;4:s%a@wﬁg,a‘rwaﬁiwﬁﬁmw
el ot 2
1© ( Sy
: %) (A) 216 \/\/ (B) 252 (C) 108 (D) 324 ﬂ) /1% S
— » L
99. /) A sum of Rs. 10 is lend to be returned in 11 monthly mﬁtalmemS of Rs. 1 cach. interest f“/)
a g\ being simple. The rate ol interest charged. is : ;ﬁ
= 1 9 .‘ rs 'V/l’i,* ,’7/ ///{/
= /‘){A) Oﬁ % By 10% (C) 21 ﬁ% / (D) 22% ig” -

[ BUT 10 U SR gIERY B W, 05 59 1 A 11 WIS feat ¥ mifow #9 & o oam
*‘MCIWIQWF&HJ"Q[TE*

| 9
(A) 9%% B) 10% @ 21=% D) 22%

@/ There are 65 students in the class and Rs. 39 are to be distributed among them so that each
boy gets 80 Paise and each girl gets 30 Paise. The ratio of number of bovs to number of
girls in the class, ,12 )

(A) 3:2 )/ By 4:1 (Cy 2:3 (D) 1:4

UF HHH 65 fEndl 2 o 39 599t 2 o e 2w gen fofa B o & & ol e # 80
o fae & WWW‘?;O@W%! HET W LD Bl WA FT TSR BT HEAT T I B

(A) 3:2 (B) 4:1 ©) 2:3 (D) 1:4
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